FA-2 Question Paper

I) Four alternatives are given to each of the following incomplete statements choose the

most appropriate one write with its serial number: 1x2=2
1) In the given figure, the shaded region represents A
A) Minor segment B) Major segment
C) Minor sector D) Major sector /
2) The point M(-2, 0) lies in
A) |- quadrant B) Il-quadrant C) On X-axis D) Y-axis
I1) Answer the following questions 1x2=2

3) Write the H.C.F of any two prime numbers.

4) Write the co-ordinates of the mid point of the line segment, joining the points A(0,4) and
B(O,' 4)

I11) Answer the following questions. 2X3=6
5) Find the distance between the points A(6,5) and B(-4, 3) using the distance formula.

6) Draw a circle of radius 3 cm. From a point 7 cm away from its center, construct a pair of
tangents to the circle.

7) Find the area of triangle formed by the points A(2,3) B(-1,0) and C(2,-4).
V) Answer the following questions 3x2=6

8) Construct a triangle ABC with sides AB=4 cm, BC=5 cm and AC=6 cm and then a triangle
similar to it whose sides are % of the corresponding sides of the first triangle.

9) Prove that /2 is an irrational number.
V) Answer the following question. 4x1=4

10) In the given figure ABCD is a square with diagonal 8 cm is inscribed in a circle with Centre
O. Find the area of the shaded region in the figure.
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